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A 28 year old woman is a sedentary worker. She is a lactating mother with 3 month old child.

Which of the following is her approximate energy requirement in farms of kilocalories per day ?
1) 1500 kcal/day 2) 2250 kcal/day 3) 2500 kcal/day 4) 2830 kcal/day
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The major operations performed by modern rice mills are

a) Cleaning b) Husking ¢) Separation d) Washing
Answer options :

I)aandb only 2)a,b,candd 3)a,bandd 4)a,bandc
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Choose the correct order of fat content in the milk.

1. Sheep’s milk < Buffalo’s milk < Goat’s milk < Human’s milk
2. Sheep’s milk > Buffalo’s milk > Cow’s milk = Human’s milk
3. Sheep’s milk > Buffalo’s milk > Goat’s milk > Human’s milk
4. Sheep’s milk > Buffalo’s milk > Cow’s milk < Human’s milk
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As per Maharashtra Factories Rules, 1963, the quantity of drinking water to be provided for the
workers in every factory shall be at least a day per worker employed in the factory
and such drinking water shall be readily available at all times during working hours.
1) 1 litre 2) 2 litres 3) 5 litres 4) 3 litres
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How much zinc supplement is recommended by WHO and UNICEF for infants less than 6 months
of age after an episode of acute diarrhoea ?

1) 20 mg per day for 10 days 2) 10 mg per day for 10 days
3) 5 mg per day for 7 days 4) 6 mg per day for 7 days
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Dipeptidyl peptidase [V isa.......... protease.

1) Threonine 2) Aspartic 3) Cysteine 4) Serine
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Soft curd milk is characterised by .........

1) Low casein and calcium content 2) Low casein and high calcium content
3) High casein and calcium content 4)High casein and low calcium content
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Which milk 1s best for preparation of Chhana ?
1) Cow milk 2) Buffalo milk 3) Goat milk 4) Camel milk
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Which of the following statements are correct about buffalo milk ?

a) Buffalo milk fat has a higher saponification value and melting point than cow milk fat.
b) Cow milk fat is higher than buffalo milk fat in butyric and oleic acids.

c¢) The particle size of buffalo miscellar casein is larger than that of cow micelle
Answer options :

1) a and c are correct 2) b and c are correct

3) aand b are correct 4) All are incorrect
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Which of the following vitamin acts as a anti oxidant ?
1) Vitamin A 2) Vitamin D
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Match the following and select the correct option :

A) Vit. Bl I) Hyperhomocysteinernia
B) Vit. B3 II) Beriberi
C) Vit. B6 1) SACD
D) Vit. B12 IV) Pellagra
Answer Options :
A B C D
I I m v I
2) T IV 1 1T
3) vV 1 m 1
4 IV I 1 I
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3) Vitamin E
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4) Vitamin K
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Match the following — Vitamins and respective deficiency diseases :

Vitamins Deficiency disease
a. Vit A 1. Rickets

b.Vit.D 11. Scurvy

c. Vit. C 11l. Anaemia

d. Vit. B12 1v. Night blindness

Answer Options :

a b ¢ d
) i i v i
2) v i i il
3) i v il il
4) i i ivood
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Kwashiorkor disease due to lack of protein occurs in

1) children aged 1 to 5 years 2) children aged 4 to 7 years
3) children aged 6 to 8 years 4) children aged 2 to 8 years
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Under Anaemia Mukt Bharat which iron supplementation is given to abdolescents with what
frequency ?

1) IFA tablet (60 mg elements iron + 500 mcg Folic Acid) weekly

2) IFA tablet (100 mg elemental iron + 500 mcg Folic Acid) every month

3) Daily 1 IFA tablet

4) None of the above
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In which of the following deficiency, zebra stripping of hair is characteristically found?
1. Zinc 2. Fatty acid 3. Biotin 4. Vitamin A
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Which among the following is NOT correctly matched for Disease Associated with Childhood
Obesity and its manifestation?

1. Cushing syndrome - Adrenal hyperplasia or pituitary tumor

2. Myelodysplasia - Spina bifida

3. Hypoinsulinism - Nesidioblastosis

4. Pseudohypoparathyroidism - Variable hypocalcemia
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Which of the following measures can help to reduce the risk of systemic hypertension ?
a) Reduction in dietary intake of common salt. b) Controlling weight for age

¢) Modification of personal lifestyle d) Use of oral contraceptive pills.
Answer Options :
1) aand b only 2)cand d only 3) a,band c only 4) none of the above
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Child of severe acute malnutrition discharged from Nutritional Rehabilitation Centre (NRC)
should be observed in community by an Anganwadi Worker (AWW) as per which one of the
following schedules ?

1) Once a week for first month and then twice weekly

2) Twice weekly in the first month and then once a week

3) Once a week for first month and then once fortnightly

4) Twice weekly in the first month and then once fortnightly
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"In research study investigation studied the prevalence of Alzheimer's disease along with total fat
supply in 11 (Eleven) countries. They reported that total fat supply is strongly correlated with
prevalence of Alzheimer's disease."

Which of the following best describes the above epidemiological method ?

1) Ecological study 2) Community trials

3) Cross sectional study 4) Systematic reviews
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Following is/are among the various substances defined as “Food” according to “Food Safety and
Standards Act 2006”.

a) Genetically modified or engineered food

b) Water used during treatment of food

¢) Live animals

d) Drugs and medicinal products

Which of the above is/are correct ?
1) a only 2)aand b only 3) a,b and c only 4) All of the above
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